—. HEEB

1L.D HCmE B={x[-3<x3), va=(1,2, 3}, ~AanB={1, 2}, &L D.

2.C z=3-2i, frbAZ=3+2i, #i C.

3A @RI A2, (D)5 W 1o w, BTBL ©=2, W y=2sin(2x+ ), ENEEIZ A
(2.2). Bk 2sin(2 X2+ @)=2, B+ =2k 743, KEZ, B b=2k 1 -3, KEZ, % k=0T, d=-T,
ALl y=2sin(22-), ik A.

LA WEABEEKN a, W a8, i a=2.

BEERI L1279 R, W] 2R=v3a, B R=V3, FTLABRMGFE (B S=4 n R*=12 x . #iik A.

5.D WA P RN (L 2), A P R FRCA y‘é(k)(}}% k=1X2=2, Hi% D.

6. A FEIH AT RIE L (1,4). FAB| RIS AR TR, B8 o= Hi

A,

PRLER BOSBRESEEN (-1, 452, 8).

7.C = ME BN 2V3, RN 2, AR 1C O 4, B LB HE RO DI T 42
§><4 nX4=8n. [IFMEEM A 4N,

BIEEE BTN 44 % =16 %, TG LFTHRE0 TTELY 8 1416 % +4 7 =28 7, ik C.

8. B T ANAELLST ST 25 Bl Bk i%eg O, BPRE 2 52 40 i S5k b 16 A HBLEHT, i L
A BER R L 4 AT SR B P2, WU B,

9.C PTrBFER, BN a H 2 I, s=0x2+2=2, k=1, Ik} k>2 - F8A a N 2

I, s=2%2+2=6, k=2, B k>2 AN TGN a 0N 5, s=62¢2+5=1T7, k=3, Mk k>2 me o7, 57
B, #ith s 17, #uk C.
10. D BEELy=10""HY5E SIS N (0, +o0), T y=x, y=2"H95E LI A R, 1B A, C;v=1g

x M{EHECA R, HERR B, HUE D.

FELT FENSESFIUER v 107 v, BEESIAARE R RESHNEERE.




2
11.B f(x)—l"2sinzx+631nx—'-Z(Sinx“;) r; M sinx=1 I, f(x) HUfH Ao 5, HU%E B,

BEESH A EERRARRESATE 1 (V-cos 2u6c0s(CxJIEHAET sin 2 89

TREE, BIECSRRRE, FRAEEC sinx €1, 1],

12.B  [HREE AT £ (x) B RO T B8 x=1 SRR, T y=|x2x-3|=| (x-1) 4| B R X T
2R x=1 RERR, FFOLIGAE QA7 5 6 T B 2% xm] S, ELRERE 6T F 4 xm1 K078 55 O
A kr 2 N 2, fﬁU.E:me HU B.

BMES RTHEZ | WA BRI, BEEEE f (1) 5y | x-2x-3 KBS
P TEL =1 WRERTATKE.

=i
13. 688 -5

CRET [ all b, TLZ=Z, i n=b.

ZEZT FHCHTREEFHTSESNFEERS.

14. €58 5

SRR LR R AT AT I, B R AR A R (AR S HEE x2y—2=0 A

B(3, 4) B, z Ui F/ME, 20,=3-2 X 4=-5.

=3

w=y+lul)

15.88% 2

13
CRRNT 1 cos C=2, 0<C<n, # sinC=—.
Ml cos A=, 0<A< @, 1§ sin A=,
BrLL sinB=sin[ m —(A+C) ]=sin (A+C)

, . 63
=sin Acos C+sin Ccos "]‘:E'



U 7% e BAg b=,

sind 13
16.85% 1 M3

ST AR BB 2 AR 5, WA ARG : OF R QBTN 1A 2, phef
CHYRT BRI 2 M3, PR BRI T A3, R R @R R B ST
A3, R 2Ry BRSO 2 f3, WAy EROET O 1 A 2, X L8R Y BT
FIR R 2, 5 LAF R, UTU@ RS, AR Ry EMEFER 1 M3,

BESTR  SedAs TS BELR R LN FERERES. PREBATENXE

=, BEE

17. @REHT (1) B4 ) A ER d, HEE A 2a:5d=4, art5d=3.
13 a=1, d=2. (3 49)

A U {aa) BT A RN am. (5.4)

(1) 61 (1) 1, bam| =), (6 4)

Hn=1, 2,3, 15742, bl

% n=4, 5 I, 25°°¢3, b=2;

Zn+3

* n=6, 7, 8 I, 3ST<4, b=3;

2n+3

% n=9, 10 A}, 4s—5, b,74. (10 4})

JF L) (ba) (FIRT 10 TG40 1 X342 X 243X 344 X 2=24. (12 4})

DRSS e IBIE L] RUR, TS (b, BRATUELL S BREREUSH, NTOKILEF (v.)

BYBT 10 U

18. @FEFT (1) $4F A R4S BCS—E N HERRENT 2.

B 74 B 1, 4 R B T 2 IR 0, 55,

#CP(A) B THE D 0. 55. (3 41)
(IDHEBRALANY—FNHRREAT 1 BT 4

R BAR A, KRB T 1 HAb T 4 MR =03,
WP (B) U4 LHE A 0. 3. (6 47)




(D A BER &

{4 9% 0. 85a a 1.25a 1.5a 1. T5a 2a
Bk 0. 30 0.25 0.15 0.15 0.10 0.05
(10 43)

R 200 BER AR TR %S
0.85aX0. 30+aX0. 25+1, 25aX 0, 15+1, 5a X0, 15+1. 75a X0, 10+2aX 0. 05=1. 192 5a.
B, SR T RS A M THE A 1. 192 5a. (12 4)

19. @ (1) iFM: B0 £ ACLBD, AD=CD.

W H AE=CF f-ﬁ"*—cz, M ACI EE. (2 45)

AD C

k75 EF LHD, EF LHD', BrLL ACLHD' . (4 43)

(1) F EF Il AC fi=2=2 (5 41)

tl AB=5, AC=6 # D0=B0=VABZ-ADZ-4.

fir Ll OH=1, D" H=DH=3.

T2 0D’ “+0H*= (2v2) +1*=9-D" ', ¥ 0D’ LOH.

@1 (1) % ACLHD', ¥ AC_LED, BDNHD' =H, if L AC L~¥1E BHD’, " ACLOD.
SLih oD LOH, ACNOH=0, BT A 00" L-Fii] ABC. (8 47)

N =24 mp=

AC DO
i ABCEE [RITEF s:gxaxs-éxgxszi:l (10 4)

[z

B LA 1 4k D' -ABCFE MARAL v=-x Zx 2v2=22, (12 43)

20. @I (1)) ME 30U M (0, +eo). 4 a=4 i,

Flx)=(x+1) 1nx-4(x-1), £’ (x)=In x+i—3, £ (1)=-2,

£(1)=0.
&% v=r (x) 7E (1, T(1)) AR2E 7 F2 R 2x+v-2=0. (3 43)

(DM xEQ, +oo) B, £0)20 FMT Inx %M. (4 43)

i g (x)=1n x-222 ji

L’

1 Za ot HE(l-a)utl
b e e

g (x)= ,2(1)=0. (6 4)

x (x+1)0 x(x+1)?
(i) 4 as2, xE (1, +eo) I, x+2(1-a) x+12x"-2x+120, # &' (x) 20, g(x) £E (1, +eo) HBUEHE I, K
it g(x)>0; (8 43)

(ii)Far2ih, 4 ¢ (x)=08

x=a-1-V{@-1)2-1, x=a-1+V{@-1)2-1. (10 %)



Hx1 fl xxm1 B 0l MR xE (1L x) 1, g7 (2) €0, g (0) 78 (1, xo) BRI, FH ke (x) <0, (11
)
L, a fER{ETEREAR (-, 2]. (12 &)

21‘@#1: ( I } PX-LM(Kl. )’1) ’ ﬂlﬂﬁ%ﬁ.ﬂﬁﬂ Y1>0.
0 0 e, B AM BB e A

T A(-2,0), EEELE AM M TFE R v=xt2. (2 43)

¥ x=y-2 {{)\’;*‘f—-l 13 7v*-12v=0.

[ v=0 8¢ F'—f, Fif EL YF%-

A AMN T B S0 e XS XX 2=, (4 43)
(T0) 5 B8 AU AT v=k (2) (00) FRAHE=1 7
(3+4k%) x*+16k™x+ 16k’ 12=0.

F}:l X1‘(—2)_16k1‘121’% x}_z{a-n“],

34k7 3 aik®

W v
| AM | =2 VT F RS

3+4k°

HIL B, B2k AN A TN y=—: (x+2),

HAE AN =2 (7 43

k44

ag 2 _ K _
A2 AN = AN| B 4K -6k™+3k-8=0. (9 43)
i F(t)=4t6t%3t-8, M k & FOMET A, ' (t)=12t>-12t+3=3(2t-1)%20, FrbL ()£
(0, +oo) FLIFHHE

X £(v3)=15v3-26<0, £(2)=60, @t £ () (0, +oo) HME—% A, A% k £ (V3,2) A,
BBk, (12 4)

22. @BRHT  (1)il8§: AN DFLEC, fiTLla DEF- £ CDF, |77 < GDF=Z DEF=Z FCB,

bF_DE_DG
—_—
CF €D CE

ArLla DGF- & CBF, HiHa] £ DGF=£ CBF,
[Htk 2 CGF+<£ CBF=180° , FTEL B, C, G, F MUt/ (5 43)
(11) E1 B, C, G, F W &= 4L [E], CGLCB 41 FGLFB, #E4 GB.



i1 G 5 Rta DEC £Hi4 €D (199 4, %1 GF=GC,
# Rt A BCGE RtA BFG,
E M, Uik T BCGE MITHAN S K a GCB HI ! Sawl 2 £, B

5=25aca=2 X2 X=X 1=, (10 4})

23 @FEIT (1) x=pcos 0,v=psin 0 0[78[E C M2 TR p*+12pcos
8+11=0. (3 45)
(I FECT ) sha B B sl br Bvh, BER 1 BUikAebr 718N 6=a (p €R).

WA B BT R BN oy 0o 3 | BORRARER RN C BT A TRE 04120 cos
a+11=0. (6 4})

T 01t 0 /~12cos a, p1p~=11.

[AB =1 010 =y(py + P2)?-4p1py=y 184cos7a-44. (8 4})

il AB| =IO cos’a =, tan @ =+2=. (9 43)

Al 1 rt R e (10 4)

Tikits NN E R E] A RS
-2xx < ;
24 @B (1)f(x)= 1,—; R %.(2 1)
|2xx 2 ;.

% xS, £ (x) <2 B-2x42, R -1 (3 4))
Y, £(x)<2; (4 5)

i x220, £ (x) <2 i 2x<2, T x<1, (5 4)

FFEL F (x) <2 B8RSR M={x | -1<x<1). (6 43)

(I AER: B L), % a, bEM I, -1<adl, -1<b<1,
Ml (a+b) *= (1+ab) =a’+bi*-a’h™1=(a’-1) (1-b%) <0,
FH e a+h|<|1+ab|. (10 4)



